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a quantity representing the ra
measured in Amperes.

current source
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reesisteance |ri‘zistons|

the degree to which a substance or device opposes the passage of an
electric current, causing energy dissipation.

»

resistor

100¢€2

NNV~

potentiometer

10k€2
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Ohm’s Law

The voltage drop across a conductor 1s equal to the product of the
resistance and the current flowing through the conductor (V=IR).
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Multiplier
BLACK 0
| BROWN 1 0
" RED 2 00
N ORANGE 3| 000
" YELLOW 4| 0,000
GREEN 5| 00, 000
BLUE 6 | 000 000
VIOLET 7
GRAY 8
1st Digit — I
EXAMPLE I
47 000 Ohms ~ ,2nd Digit="17
e Multiplier—  10/0/[0
47-Kn //Tolerance — 2% - Red
I 5% - Gold
[
10% - Silver




Ca°paC°i°tance | ka'pasitons |

the ability of a system to store an electric charge, defined as the ratio
of the change 1n an electric charge 1n a system to the corresponding
change 1n its electric potential.

capacitor
10 pF

1{H

polar
capacitor

1.0 uk
HF
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monolithic
ceramic disk mylar ceramic electrolytic tantalum

C' = ab x 10° pF

(usually)









Inductor

in*ducteance |in'doktons|

noun

the property of an electric conductor or circuit that causes an
electromotive force to be generated by a change 1n the current.
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